
Read the place value in words and fill in the missing number.

Fill in the missing number.

1 2
Hundreds Thousand Tens Ones

= One thousand, five hundreds, two 
tens, and three ones.
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8

2

Five hundreds, three tens, and six ones. =
One thousand, eight hundreds, and three = ones.

Nine hundreds, four tens, and two ones. =

1=One thousand, seven hundreds, five 
tens, and nine ones.
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4=
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7=

 One thousand, nine hundreds, two 
tens, and six ones.

 Seven hundreds and five ones.

 One hundred, four tens, and three  
ones.

 One thousand, nine hundreds, nine 
tens, and nine ones.

 Eight hundreds, seven tens, and two 
ones.

Answer Key

35

5

3

1 0 3

9 4

7 9

21 6

7 0

1

9 9 9

8 2

3
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